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(—)2 B A @8 (Learning Organization) (2.5 %)
(=R i_fr'i. + (Bounded Rationality) (2.5 %)
(Z)E#% /1 » % (Motivation Potential Score) (2.5 4~)
(m)&X4# (Empowerment) (2.54)

i&%@ﬁai%ﬁéﬁﬁ HEM SRR TAES A4 2 3t s r i e s
BldoF > FRIEFEMEEH R 42 (Critical Path) BT ? (5 ) 242 pr
S%H%Faﬁ%ﬁ( L A) ? (54)

2% BE M A B BT AT B BT M B

Biesuya S ¢ & X (Fiedler Contingency Model of Leadership) ¥ :
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A B € A & a £ 4

FE | BE | BE | B | BE | B% | &E

2009 | 1,125 12 10 1,000 16 800

2010 | 1,200 16 12 1,200 15 1,000

(—)#F3HE 201048 GDP- (24)

(=)3F 2 2009 4 2 2 29 > 3+ 2010 69 F 8 GDP - (24)

(Z)F A 2009 £ & 287 > 315 2010 £ GDP i35 % (W EAZE 2%
mAL) o (24)

(m@)F 2R 2009 5 & A 89T B 2010 £ 2 B 51458 (CP1) (WRIBEAZE
BB RAL) o (24)

(Z.) GDP - jek 45 #c 2 CPI 4t # &2 75 22 % 09 R IE K E A8 B9 B 5. 4 R
Bl » SR H @A T A e RE 25 e/K4E 2 S HEER
BY? (24)

+ ~ LE EAE
(—)T 35 % E (Market Failure) (2 4)
(=)+ B44% (Gini Coefficient) (2 4)
(=)%k & GDP (Green GDP) (2 4)
(m)it % A (Sunk Cost) (24)
()& #7222 (Coase Theorem) (2 4)
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